Mie®muereukd mpoBNNeTe Kl QURNTELE oY
KEWNEEYODY ) nadmnueraukn) weie erebn)

Mnyr: https://thalescyprus.com/?page id=1171

www.funwithpuzzles.com

BaAe og KUKAO T OWOTH AMAVTINON
1. O louivi To Apkouddki ayopace 4 pnhémTeg kal o @ikog Tou o Medpn aydpooe 6 KEK

Tupiow. MAnpwoav Ta iGia ko TARpwoav kal o1 Suo padi 24 tupw. Nooa eupw kooTife 1 KEIK

TUpio;

Winnie the Pooh bought 4 apple pies and Eeyore bought 6 cheese cakes. They paid the same
and together they paid 24 euros. How many euros does 1 cheese cake cost?

A)2 B)

4

c)6 D) 10

E) 12

2.0 Tlax vo omoupyitn TNda o éva epaxTn amwd v pia Béon oTnv GAAn 6Twe Qaiveral
oty eixéva karw. Kabe dApa g maipver 1 SeurepdAemrro. To otroupyirn kaver 4 dGApara
prpooTd, 1 dApa wiow kai ava 4 aApara ppooTd kai 1 wiow KA. ZE wooa SeutepoAsTTa
o T{ax 6a waer amwd v APXH oro TEPMA;
Sparrow Jack jumps on a fence from one post to another. Each jump takes him 1 second. He
makes 4 jumps ahead, then 1 jump back and again 4 jumps ahead and 1 back etc. In how
many seconds does Jack get from START to FINISH?
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3. Moiog apiBp6e kpUBETal KATW ard To AoUAOUBK;
What number is covered by the flower?
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4. HAwvva £ya TohAd amwd autd Ta B ToUBAha. Méoca amwd Ta Mo KATW OCYAUATA
pmropei va gniaEe n Avva otav kohhfoa padi 0o amd aurd Ta ToUBAa;

Ann has a lot of these | tiles. How many of the following shapes can Ann make
by gluing together two of these tiles?

A) O B) 1 C)3 D) 4 E)5

5. It éva peydho kouti uTrdpyouv 3 HIKPOTEPT KOUTIA Kal TO KaBéva ammd autd TEPIEXE! 3 Mo
pikpd koutd. Méoa koutid uTrdpyouv guvolikd;
In a box there are three boxes, each one of which contains three smaller boxes. How many
boxes are there in total?

A)9 B) 10 C) 12 D) 13 E) 15

6. Zrov mo kdTw Tivaka uTrdpyouv vopiopara. @£houps va umapyouv S0o vopiopara oe
kabe oriAn ko 2 vopiopara o kGBe ypappr. Néoa vopiopara Ba wpére va apaipeBolv;
There are coins on the board. We want to have 2 coins in each column and 2 coins in each

row. Hoe many coins need to be removed?
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B) 1 C)2 D)3 E)4

7. Metakivnoe povo €va oTtipTo £T0L WOTE Vo MaPAELVEL (510 TO amoTéAeopa




